T3 0 EEELHEE

FH30F4R1BMGFMRI1EIAST1HET
BREFEFFHEANPOSHFEBLEXEHS

1. EXREEDTE
FLECHLT, ELVBFBERVBERAZE CHORLAHITEODVTERZHET 5,
2. EXOREICETSEE
(1) BEFEFFDIERLIER

e ) SENERE | TR
s FENE *EZ’E 15T S fff; OERERY | AHE
‘ = FEAY | (FF)
BESE | [RAMATEORE] BB | SBBRG2R. | & | 52 0
(HIRIBE - b R 2B 0~5 | fEft-B B
SREE) I R
F140E [FAOLZE] 5/1-1/21 | 7WhT 17th 5 & 1 HiE 50
fExavr—LgiE |11/ | =B £ 4, 000
EnRE | fRe G OBE  |0108 | omea | 18 A& RE 0
08/05 | AL RNE 24 50
09/23 JLE T—)LFF
12/08 TWhT 4T & &
HE-WE | % 32 GREREETE | 0802 | amea | 30 | wE-mE 100
& (EREBEM - FE) 248 4 70
EBEE. v ) THE | 5% | 5% T e 0
AEGELEAS 58 i
SEHEE smeneE | 1026 [ x| T Thega 0
AamEEIOY o RE -
ARUF |RAE—VARTrD | &E1E | LER (Etk| 50 | H%HE | 18 654
B (25 28 ) 7/23~25 | /s Ef) s g
(8B J K ARBIEL) £ 750
BEAREE TR ek T aER 30
sEnpursxny (38 [aamk T Taak X0
R vmkEoRR W | &a8k ST ey 30
H4E 100
SERExanan [w0EF [Eaak ; SEHE| 40
[ba] T0HFE | 12 A% . T
(2) ZDHnEXE
N EHFE | TR FEED | RERAH
Lt s A8 157 FEAM | %(FM)
L




FRIOFEEMBFEFEFEHCRIFRZIZHTNITFTEE
THI0F4A1BNOTMI1EIA31HET
BEFEFFHEANPOSFEELFTXERS

(B A1)
® B & %8
(BEINZDEB)
I #BEIADER
1. KE-AKERA
(1) AS£ILA 10,000
(2) KBRA 640,000 650,000
2. BEPRA
(1) BEHEFEENRA 0
(2) HERRHEKBEIA 0
(3) BAF-HHEEEIXA 0
4) ARNUREZEIA 12,688,500 12,688,500
3. fBEURA
(1) AEEEANIKABIREIRA 5,966,000
(2) EREIBIREIRA 0 5,966,000
4. HFREIA 0
5. ZOURA
(1) FIEURA 10 10
6. TOMDEERFNODIEA 0
LHIURA (BBEIA) EEHA) 19,304,510
I BEXZXHDER
1. BXE
(1) BEHESXE 50,000
(2) EBRMERXEBXE 0
(3) ME-HEEXE 100,000
(4) ARVNEEE 18,754,500 18,904,500
2. EBE
(1) JHERE 18,000
(2) JeBKE 3,600
) WMEXREE 24,000
(4) BIEERE 50,000
(5) FIRIEAZE 6,000
(6) LEETE 3,000
(1 S5 & 12,000
(8) FEREE 1,000




(9) BNFNEF
(10) &
(1) $RENFFEFH0H
3. Flg&
LEAXH (BEXH) §5B)

BN (FHEUNZ) Z5E(C)=(A)-(B)

M ZDithEEINADE
Z D EEINAEEHD)

V ZDHEEZHOER
ZTDMEEZHAEEHE)
LRI X Z£B(F)=(C)+(D)—~(E)
BTN 3 2 58(G)
REFHEBUNZ ZFE(F)HG)

(IEBREAEIE R D ER)
V IERRBAEEHEMNDER
1. BEENE
LA X =58 (AR A KB @%E) (F)
2. aERIE
EMEEEEH)

VI IEBREFZE R D &R

1. BERVE
BRI EHE (X HEEEE) (F)

2. AfEEME
BAEEE D
24 2 IE R B EE 15 A0 EE(D)=(H)-(D)
AT AR IE BRBA ZEZE(K)
LHAIERREA 2 B EH(U)HK)

1,000
70,000
70,000

258,600
120,000
19,283,100
21,410
0
0
21,410
2,780,254
2,801,664
21,410
0
21,410
0
0
0
21,410
2,780,254
2,801,664




